BB TR > 2 —

LB L MERBLHEERE

SHTFEERE

ZRER . EHERAVA 7Ty REN

HE 0 100%

A ZHES BHE (kWh) i

(kW) FH = CEl
47 188 38,316 12,804 51,120
5H 188 35,868 15,444 51,312
6H 188 38,616 13,392 52,008
H 167 43,968 12,456 56,424
8H 162 44,892 14,280 59,172
9H 162 41,052 15,756 56,808
108 162 41,196 12,756 53,952
118 162 38,064 12,516 50,580
128 162 39,804 14,160 53,964
1H 162 38,844 16,356 55,200
2H 162 37,345 15,485 52,830
3H 162 42,660 13,576 56,236
At 480,625 168,981 649,606

LB TERMNE > % —

S 2 FEEE

ZEs : FHERVA -7 TV FEN

HE=E : 100%

p—_ 2B S BNHE (kWh) i

(kW) FH kH A5t
4R 162 39,336 13,884 53,220
58 162 32,806 19,114 51,920
67 162 45,604 11,520 57,124
78 160 44,475 14,573 59,048
8H 170 45,188 16,605 61,793
98 185 46,776 16,283 63,059
108 185 45,964 15,596 61,560
118 185 40,297 15,460 55,757
128 185 43,643 14,468 58,111
18 185 43,131 20,348 63,479
28 185 42,091 16,320 58,411
38 185 54,453 13,305 67,758
=1 523,764 187,476 711,240




